Reading comprehension exercise

Read the paragraphs below and choose the right number to match
the pictures 1-2-3-4
ONE PARAGRAPH IS INCORRECT

This isa Fun Fair. The Ferris wheel is behind the circus. The balloon is flying
over the roller coaster and close to the circus. The carousel is next to the

popcorn cart,

This is a Fun Fair. The balloon is flying over the roller coaster close to the
circus. The carousel is between the circus and the popcorn cart.

This isa Fun Fair. The balloon is flying over the Roller coaster and the Ferris
wheel is next to the roller coaster. That's all.

This is a Fun Fair. The Ferris wheel is behind the circus. The balloon is flying
close to the Roller coaster and above the popcorn cart. There are people
riding the Carousel and the roller coaster.

This is a Fun Fair. The Ferris wheel is behind the circus. The balloon isn’t flying
close to the Roller coaster and above the popcorn cart. There aren’t people
riding the roller coaster, but the train is there.
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